Unit 2 NOTES Honors Math 2 45
Day 11: Quadratic Systems
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Day 11: Solving and Graphing Quadratic Inequalities and Systems (Algebra 2 Text p. 269)
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Solving Linear-Quadratic Systems:

With a Linear-Quadratic System, there are three possible cases:
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Practice with Solving Quadratics using Various Methods:
Solve by graphing:
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Warm-Up: .
13. Each year, a local school’s Rock the Vote committee organizes a public rally. Based on previous years, the
organizers decided that the Income from ticket sales, I(t) is related to ticket price t by the equation /(t) = 400t — 40t°.
Cost C(t) of operating the public event is also related to ticket price t by the equation C(t) = 400 — 40t.

a. What ticket price(s) would generate the greatest income? What is the greatest income possible? Explain
how you obtained the value you got.
Ticket price(s) income

b. For what ticket price(s) would the operating costs be equal to the income from ticket sales? Explain how
you obtained the answer.

¢. Which of the following rules would give the predicted profit P(t) as a function of the ticket price?
i. P(t)=-40t* + 440t — 400
ii. P(t)=-40t>— 440t —400
iii. P(t) = -40t* — 360t + 400
iv. P(t) =-40t* - 360t — 400
v. P(t) = 40t* - 440t + 400

14. Factor Completely, then find the solutions of 3x*—16x=12.



